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An oil dmp of radius 2 mm with a densit}-' 3 g cm 3 is held stationary under a constant
electric field 3.55 ¥ 10° V m ! in the Millikan’s oil drop experiment. What is the number of

excess electrons that the oil drop will possess ?

Consider g=9.81 m/s”
Options :

H 10
86435115661, 1/~ <10

i 10
86435115662, /310

= 12
86435115663, 172 <10

; 11
86435115664, 20810

Question Number : 1 Question Id : 8643515221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i1 a1 =T YA, 2 mm BE 9 3 g om— 3 999091 9am@n 99 3.55x 105V m~! ReR

fae]d &= R odan M. Joir= 49 fhdl SIRd Seidni-mal HEl e 7

g =981 m/s? foarm =1,
Options :

rd 10
86435115661, 17 <10

o 10
86435115662, 172 <10

i 12
86435115663, 172 <10

; 11
86435115664, T0-8 %10

Question Number : 2 Question Id : 8643515222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A constant power delivering machine has towed a box, which was initially at rest, along a

horizontal straight line. The distance moved by the box in time ‘' is proportional to :
Options :
86435115665, />
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(1/2
86435115666.

{2/3
86435115667.

86435115668. :

Question Number : 2 Question Id : 8643515222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tl R STl ST AT Goag R efeid Wid Aoy WRe Yud 3igd .

G- IR hefel A¥‘U 9old 1 HEGUN 31E.
Options :

86435115665, /2

(1/2
86435115666.

(2/3
86435115667.

t
86435115668.

Question Number : 3 Question Id : 8643515223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical long solenoids A, B, C and D are connected to each other as shown in the
figure. If the magnetic field at the center of A is 3 T, the field at the center of C would be :

(Assume that the magnetic field is confined with in the volume of respective solenoid).

B
A m
> T0000" QU

D

Options :

3/91



3/18/2021

86435115669 1 |

86435115670. 24

86435115671, © 1

"
86435115672. e

Question Number : 3 Question Id : 8643515223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Pl SEIAYATT TN THARE A, B, Cd D & i HielHise THADN wieel IHEd. WX A

=1 HegART g9 &5 3 T %, C o0 Wemwrd & 3R] Y.
(39 A1 T Ju & HieHigssl AHRAMN saw e
B

Options :

86435115669 1 |

86435115670. oh

86435115671. S

"
86435115672. e

Question Number : 4 Question Id : 8643515224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The P-V diagram of a diatomic ideal gas system going under C}-‘CHC process as shown in

figure. The work done during an adiabatic process CD is (use y=1.4) :

A D
200N/m2f-—------ <
B
100 N/m2} - __ o i Np
B! B
| | |
| | |
P | o
| | |
| | |
| L
| | |
| | |
| | |
| | |
| .
| | |
1 3 4
— 3y V(md)
Options :
86435115673. 0]
86435115674. 500]

86435115675, 200 ]

0]
86435115676.

Question Number : 4 Question Id : 8643515224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5/91



3/18/2021

SAThd gbld Ugda Sraunal fgaifias aesl 97 Had™re! PV STdhdl Srafdell as. |
Ugdl CD 98] &ofdl &/ 3B,

(v=1.4 dUT)
A D
200 ["«.',."m2 ————————— <
[
\
I
100N/m2}|- -~ . L NC
B! I I
I I I
I I I
: | .
| | |
I I I
I I I
I I I
I I I
I I I
I I I
I I I
1 | |
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Options :
86435115673. 400 ]
86435115674 200

86435115675, 200 ]

0]
86435115676.

Question Number : 5 Question Id : 8643515225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The position, velocity and acceleration of a particle moving with a constant acceleration can

be represented by :

Options :
86435115677.
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) // _ a(t)
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— »t — >t — 3t
86435115678.
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86435115679.
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Question Number : 5 Question Id : 8643515225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Rex @YU Wvm= Ul umErdl, Redl, T d @R 3 SElde e,

Options :
86435115677.
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Question Number : 6 Question Id : 8643515226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An AC source rated 220 V, 50 Hz is connected to a resistor. The time taken by the current to

change from its maximum to the rms value is :

Options :

25 ms

86435115681.

L
oy
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86435115682, = ™S

86435115683, 0-2° mS

86435115684, 2 S

Question Number : 6 Question Id : 8643515226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
220 V, 50 Hz 91 TmEdl gRT 9974 9 Wieeiell 38, 9R- 7209 UGN I TS

Options :
86435115681, = ™S

86435115682, = ™S

86435115683, 0-2° mS

86435115684, 2 S

Question Number : 7 Question Id : 8643515227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In Young's double slit arrangement, slits are separated by a gap of 0.5 mm, and the screen is

placed al a distance of 0.5 m from them. The distance between the first and the third hright

fringe formed when the slits are illuminated by a monochromatic light of 5890 Ais :
Options :

i 12
86435115685, 1178 x10~ *“m

86435115686, 2890 > 10" m

- L
86435115687, 1178107 " m

1178 x10~ % m
86435115688.
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Question Number : 7 Question Id : 8643515227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A=l S Bl Jisuid, Bl 0.5 mm ATl aielell e 9 MR US4l 0.5 m 9% Sdell e,

W@l 5800 A @1 UHaull UHEE Wol AW sed el ufeedn anfor e steaeiade $al
HTE .

Options :

TR we 12
86435115685, 1178 X107 “m

86435115686, 2890 > 10" m

- y 9
86435115687, 1178107 " m

1178 x10~ % m
86435115688.

Question Number : 8 Question Id : 8643515228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle is travelling 4 times as fast as an electron. Assuming the ratio of de-Broglie
wavelength of a particle to that of electron is 2 : 1, the mass of the particle is :
Options :

86435115689. 8 times the mass of e

— times the mass of e
86435115690, 16

86435115691. 16 times the mass of e

3 times the mass of e
86435115692.

Question Number : 8 Question Id : 8643515228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T HUI Feidg el INUC 97 Wid HE. Ul Te—ariell a¥ieidrd geidgia axiaxd Uiy

2:1 IS, BUNE aGAH 38,
Options :

86435115689, B UC SeTaCITedl ARGHIAN

- i
— UC SoidcHel SRgaHT]
86435115690, 16 ‘g

86435115691, [0 TC TCTTCITN EGATA
" u
g UC Selasiedl Segamre
86435115692,

Question Number : 9 Question Id : 8643515229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time period of a simple pendulum is given by T = z.w\jz. The measured value of the
5

Ir_-ngﬂ'n of pendulum is 10 em known toa 1 mm accuracy. The time for 200 oscillations of the

pendulum is found to be 100 second using a clock of 1 s resolution. The percentage accuracy
in the determination of ‘g’ using this pendulum is “x’. The value of “x" to the nearest integer
1S,
Options :
2%
86435115693.
3%
86435115694.

4%
86435115695.

=
86435115696. 3

Question Number : 9 Question Id : 8643515229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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el Sleidhl Bl T = ZT\F 34l fell ame.  SrearAl Alsleledl oidid Jed 10 cm 39
&

FGHT 1 mm &, SlAPAT 200 STA-EIS! AlTeiell d& 100 ¥ohg e, 1 Ydba faura s¥elel
ST dI9%-1. & QP dI9%H ‘g’ ANIUIrIC! cabdrikiel AgdHdl ‘x e, ‘¥ o o Wdeodl

Options :

2%
86435115693.

3%
86435115694.

o

86435115695.

o7

5%
86435115696.

Question Number : 10 Question Id : 8643515230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Imagine that the electron in a hydrogen atom is replaced by a muon (). The mass of muon
particle is 207 times that of an electron and charge is equal to the charge of an electron. The
ionization potential of this hydrogen atom will be :

Options :

3.6 eV
86435115697, 100 €V

86435115698.

86435115699.

> g F
86435115700, 25192 €V

Question Number : 10 Question Id : 8643515230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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N PouAl B TP EHSGT IVHEETA Foidoid FIH () T UG $on.  HIHH U
AN Seidgiedl 207 US e d UHR Soidgd Udel &, & Blglod 3V 3a-- fawg
3.

Options :

£ T
86435115697, 150 €V

86435115698, 2/-2 €V

T
86435115699, 012 eV

> g I
86435115700, 25192 €V

Question Number : 11 Question Id : 8643515231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A radioactive sample disintegrates via two independent decay processes having half lives

™ @ _ _ = ;
1, and "1/ respectively. The effective half-life, T}{S_' of the nuclei is :
Options :
7@
Tl S = s 3
86435115701. " g
86435115702. Py 7
™ 4 12
Ty, = 12 12
A
i 1/ 1/
86435115703. 2 /2
86435115704, Lvone of the above

Question Number : 11 Question Id : 8643515231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
13/91
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TehT THRUCART T S dd7Tedl Ygdl B ang [9ged 2ld 9 il A8 Agaia AJhH

Options :

1) 18

Ty = —£2 72

2 10 +1H

86435115701. /2 /2
T1;2' = Ti 1} I Ti:“_}

86435115702. /2 Z3
T g

T — /2 Fi.
15 W

86435115703. 2 /2

86435115704, TICIUD] BIVIATE! Tl

Question Number : 12 Question Id : 8643515232 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1
Tij q TE} s, IRUT $udmEr e SMgHe

_ ST,

A Ir}np of fexible wire of irregular shape carrying current is placr_-d in an external magnetic

field. Identf_f}-' the effect of the feld on the wire.

Options :

86435115705.

86435115706.

86435115707.

86435115708 wire gels stretched to become straight

Question Number : 12 Question Id : 8643515232 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

shape of the Ior}p remains und‘nangr_-d

loop assumes circular shape with its plane normal to the field

loop assumes circular shape with its plane parallel to the field

14/91
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Ueh oldfdd dRd & AFTAN MSRE T Mg 9N di8d d o 961 gaaid &= Sdel 8.

ANaY &l URumH i,
Options :

86435115705, Poadl SMHR erq e,

86435115706, P AGBIPIX SHR T 9 A Uad 8 dawy e,

86435115707, PS TIDDR PR Ud d W Udd 839 HHidY e,

86435115708, X ST W@ 2.

Question Number : 13 Question Id : 8643515233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the experiment of Ohm’s law, a potential difference of 5.0 V is applied across the end of a
conductor of length 10.0 cm and diameter of 5.00 mm. The measured current in the conductor
is 2.00 A. The maximum permissible percentage error in the resistivity of the conductor is :

Options :

86435115709, -9

]
o

86435115710.

86435115711.

86435115712, -

Question Number : 13 Question Id : 8643515233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
el | W, 5.0 VoI f[a9aiay 5.00 mm W T 10.0 cm SAEEAT RS THi-T

oildel. dI@dIdlel Hiuletell HRT 2.00 A 31E. dEHAT UTHaALe F&<d die], MHUINI TabdNikiid

Options :

86435115709, -9
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86435115710, '

86435115711, 54

86435115712. 3.0

Question Number : 14 Question Id : 8643515234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time period of a satellite in a circular orbit of radius R is T. The period of another satellite
in a circular orbit of radius 9R is :
Options :
86435115713, > 1

0T
86435115714.

86435115715.

86435115716.

Question Number : 14 Question Id : 8643515234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R 3o 3reeiedl dq@idby heriel Suderd S T 3. gHl SUEEl 9R Breur setedn

dIbR HEd dlA 3.

Options :

86435115713. 3T

9T
86435115714.

86435115715.

86435115716.

16/91
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Question Number : 15 Question Id : 8643515235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a series LCR resonance circuit, if we change the resistance only, from a lower to higher
value :

Options :

86435115717. The resonance frequency will increase

36435115718, The bandwidth of resonance circuit will increase

86435115719. The quality factor will increase

The quality factor and the resonance frequency will remain constant
86435115720.

Question Number : 15 Question Id : 8643515235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
LCR &gl URULIT, WX 901 Had 08 95eiell, HAl IR o Jeaidd
Options :

86435115717 HEEl gNaNal dice.

86435115718, 4Gl URUAE US4l dled.

86435115719, 301 U A

86435115720, 301 19U 9 HEE gRaRar ReR Jad.

Question Number : 16 Question Id : 8643515236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Your friend is having eye sight problem. She is not able to see clearly a distant uniform
window mesh and it appears to her as non-uniform and distorted. The doctor diagnosed the
problem as :

Options :

86435115721, Myopia and hypermetropia

17/91
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9643511577y, Fresbyopia with Astigmatism

86435115723. Astigmatism

86435115724, Myopia with Astigmatism

Question Number : 16 Question Id : 8643515236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tl i gCRN e, O dAledl ThadH RasaEl Wil Tesqul UIg 9ihd Hrel. 3T fael

1 TaHH ¥eiell 9 fagd fawd. Sleexd @1 uea e 8 Pl 6
Options :

86435115721. : R\

86435115722, FUGPA SXEX UHARAIUS
86435115723, gl
86435115724, ISP XIS TIehCFECIT

Question Number : 17 Question Id : 8643515237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the average wvalue of energy alf}ng one degrr_-e of freedom for an ideal gas in

thermal equilibrium at a temperature T ? (kj is Boltzmann constant)

Options :

kT
86435115725,

kgT

R | =

86435115726.

k2| L2
3
=

86435115727.

18/91
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b
86435115728,

Question Number : 17 Question Id : 8643515237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T AIYAFTE 31T WAl A9 aigsne! Uhl Jaudl blede] SRRl Huld qed
e 7 (kg ® SeceHaal ReRi®)

Options :

kT
86435115725,

86435115726.

86435115727.

2
86435115728.

Question Number : 18 Question Id : 8643515238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 1L

List - 1 List - 11
(a) 10 km height over earth’s surface (i) Thermosphere
(b) 70 km height over earth’s surface (ii) Mesosphere
(c) 180 km height over earth’s surface (iif) Stratosphere
(d) 270 km height over earth’s surface (iv) Troposphere
Options :

86435115720, @r (), (D)-(iii), (c)-(ii), (d)-(i)

86435115730, 21D, (b)), (0)(1), (d)-(v)

86435115731, @ (i), (b)-(1), (c)-(iv), (d)-(iii)

19/91
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26435115732, @)1, (b)-(1v), (c)-(ui), (d)-(ii)

Question Number : 18 Question Id : 8643515238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tl - 11T - 11 SRER o,

TN - 1 qret - 11
(a) Yedrl USSHETRAT 10 km SdlEx (i) eHARgaR
(b) gedi=al TSSHITAT 70 km Sl (ii) HETNG3N
(c) Yedr=al USSHFT=Al 180 km SEEY (iii) FECINgaR
(d) Tedr=l USSHET=AT 270 km AR (iv) TIagsr

Options :
86435115729, @ (IV). (b)-(iti), (€)-(i), (d)-(3)

86435115730, @ (D), (D)(ii), (0)-(1), (d)-(iv)

26435115731 (@), (b)-(1), (€)-(iv), (d)-(iii)

26435115732, @)1, (0)-(1v), (c)-(ui), (d)-(ii)

Question Number : 19 Question Id : 8643515239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A plane electmmagnetic wave of frequency 100 MHZ is traveﬂf_ng_ in vacuum a_long the

—_— Fay Fay
x-direction. At a particular point in space and time, B = 2.0 x 10 kT (where, k is unit

e

vector along z-direction) What is E at this point ?
(speed of light c=3x10% m/s)
Options :

06 j V/m
86435115733.

86435115734, -0 1 V/m

20/91
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60 k V/m
86435115735,

86435115736, 0 K V/m

Question Number : 19 Question Id : 8643515239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
100 MHz IRaR<El Wael fed guea )T x-S FHaiary 9are $Ria 31e. o 9 96 F4ie

T iRt Riga¥ B = 20x 108 k T &, (S k @ vod ww 2R am) @ Rigaw E
ford amy ?

(WebTEI=T a7 c=3x 108 m/s)
Options :

06 j V/m
86435115733.

86435115734, 00 1 V/m

60 k V/m
86435115735

86435115736, 0 K V/m

Question Number : 20 Question Id : 8643515240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A thin circular ring of mass M and radius r is rotating about its axis with an angular speed w.
Two particles having mass m each are now attached at diametrically opposite points. The
angular speed of the ring will become :
Options :
M
M+ m

()

86435115737.

21/91
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M

]

M+ 2
86435115738, =
M — 2m
W=
M+ 2m
86435115739.
M+ 2m
by ———
M
86435115740.

Question Number : 20 Question Id : 8643515240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
M IHgaFE 9 r B i aNG & el wWa = AeHEd o SN 9 e S e,

o

TS m TGAFE S FU AN 51 [9g gy faacidel amed. Feam ST 97

Options :
\% |
“M+m
86435115737.
M
Wy —————
M+ Zm
86435115738.
M —2m
W =
=
se435115739, 0 T Am
M + 2m
oy ——
86435115740, il
Physics Section B
Section Id : 864351350
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
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Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351350
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643515241 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An npn transistor operates as a common emitter amplifier with a power gain of 10°. The
input circuit resistance is 100 £} and the output load resistance is 10 k{}. The common emitter
current gain ‘B will be _ . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643515241 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

npn CIARCY ARG Soduil Jadl §REl 106 Ta a8F o9 SYdl. Mfaw! aRkeyg 9y
100 Q 3 9 99— ¥R 9 10 k() B, AHEd Sodell gN1 d98d ‘B 39,

(Sdoseal YuiieTude)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643515242 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

23/91
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A ball of mass 10 kg moving with a velocity : 1[],'.@ m/s along the x-axis, hits another ball of

mass 20 kg which is at rest. After the collision, first ball comes to rest while the second ball
disintegrates into two equal pieces. One piece starts moving along y-axis with a speed of

10 m/s. The second piece starts moving at an angle of 30" with respect to the x-axis.
The velocity of the ball moving at 30° with x-axis is x m/s.
The configuration of pieces after collision is shown in the figure below.

The value of x to the nearest ﬁ'lteger is

Y- axis t piece 1

11=10m/s
\KF X - axis
vz

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643515242 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10 kg GEGAMMET WG 1043 m/s T x-SFEER TR ST ReR aferedn 20 kg TegaMT=al
gdel y-HEEY 10 m/s 9 TGHM Bdl. TEN ghel x-3H&E 30° 91 BF oo TiHH 2l
x-JEMEN 30° DI BN dgdl 971 x m/s @, Thedid FUMMHAT EOUT Gleil Tl

y-318 ¢ Gfgelr geel
vy=10m/s
=0 » x—HE
U2

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643515243 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The voltage across the 10 (} resistor in the given circuit is x wvolt.

5002
— VWA AV
— 20 Q)
| 170 V
} %

The value of ‘x’ to the nearest integer is

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643515243 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
feeiedr Uy 10 Q V9@ @lecdl x @lec 8.

30 ()
— VWV Wy
iR 20 Q)
170V
' -

‘X d ol Wdoedl Qulieiadd

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643515244 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A
F A

B

10m

hoﬁ:ﬂﬂﬂt?h

q\lT iaﬂe

Y

As shown in the figure, a particle of mass 10 kg is placed at a point A. When the particle is
slightly displaced to its right, it starts moving and reaches the point B. The speed of the
particle at B is x m/s.

(Take g=10 m/s?)

The value of ‘x’ to the nearest integeris .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643515244 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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B
10m

(!rf‘lffd‘a"1’?&&1k
sut fac e

Y

Tl IETAIANT, A figav 10 kg TRGAMET T HU STl ME. Wedl T U FAAT dleld
ATl GRBiden, o1 A Bal 9 B f¥gay uEEal. $omEr 9 B Ui x m/s e,

(& ¢ =10 m/s?)
‘Y 9 qcd Waoedl QUiedd 3.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643515245 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle pr_-rfnrms simplc- harmonic motion with a perind of 2 second. The time taken b}-’

the particlr_- to cover a displacemc-nt equal to half of its amplitudr_- from the mean position is
1

— B.
d

The value of ‘a’ to the nearest integer is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643515245 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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U U 2 Weha Blel- A JHad Tferd oiidl. Hed RerdungA el S faem= 2varErs!
Y Y Y 1
U Hdclell 95 = e,

‘a9 o¥ Wdoedl QUieIdd 3.

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643515246 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C=3pF 5 M)
| | AAMANANN —m8M—
11

q=30 uC

\

The circuit shown in the figure consists of a charged capacitor of capacity 3 pF and a charge
of 30 pC. At time t=0, when the key is closed, the value of current flowing through the
5 M resistor is ‘x" pA.

The value of “x’ to the nearest integer is __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643515246 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

28/91



3/18/2021

C=3pF 5 M(}

| —WW—

0

HIpaild SrEfdeiedl UNUIT 3 uF gRedd Y9G G9R= 9 30 uC U9R 3@, =0 S,
Wil B FEell, 5 M) YET == 9Nd Jod ‘v’ pA 3.

‘Y o g odoel QUiendd . 3.

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643515247 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A person is swimming with a speed of 10 m/s at an angle of 120° with the flow and reaches

to a point directly opposite on the other side of the river. The speed of the flow is ‘x" m/s.

The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643515247 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T AV UGIEET 120° DG 10 m/s 99 UK 9 8 901 [9%g aro=an figaw udEd.
YaE[El 9 ‘Y m/s 8. ‘x’ d Jod vl qUiedd 3@,

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643515248 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two separate wires A and B are stretched by 2 mm and 4 mm respectively, when they are
subjected to a force of 2 N. Assume that both the wires are made up of same material and

the radius of wire B is 4 times that of the radius of wire A. The length of the wires A and B

a
are in the ratioof a : b. Then E can be expressed as — where x is _
¥

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643515248 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

S 9Tl IRT A9 B 81 AgHH 2 mm 9 4 mm = 0T, Wil EY 2 N J g olded. 39
A {6 GRT Thrd USIAUNA SHfdedl e 9 B dNdl BHeul A dr=a B 9Rue S,

AT BRI A TR a:b O, W & ¥ oW WEA T AN oM

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643515249 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A parallc-l plate capacitor has pIate area 100 m? and plate separation of 10 m. The space
between the plates is filled up to a thickness 5 m with a material of dielectric constant of 10.

The resultant capacitance of the system is “x" pF.
The value of £5=8.85x10"12 F.m ™!
The value of “x’ to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643515249 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Tdhl HHITY USl HYTRAAT UsHlid 836 100 m? 36 d UZl a9 10 m 8. USRIAEe 5 m
eI SR 10 WRifae]d ferie sdeiedn uaigi- quf w=efl. HadrEl yRuMl gRe«l ‘v pF e,

go d o9 £,=8.85x10"12 Fm~1

‘X' d ¥ Ododl QUieedd 3@, (Wdoedl QUieIade)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643515250 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A bullet of mass 0.1 kg is fired on a wooden block to pierce through it, but it stops after
moving a distance of 50 cm into it. If the velocity of bullet before hitting the wood is
10m/ s and it slows down with uniform deceleration, then the magnitude of effective retarding

force on the bullet is “x" N.

The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643515250 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.1 kg, IXGAFEI U TModl SAHSAT Slhdldy HTsall [ o FIqd 918X llsel 90T o 50 cm 3R
THaY digedl. WX Tl 97 b edy AYcvagdl 10 m/s 3E 9 W UHEAM dexu Ha
BId OX ¥iTeldY URUIHET Hee geirl fhAd ‘x' N 3.

‘Y 9 Hog Wdoddl QUiedd 3.

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 864351351
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351351
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643515251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a binary compound, atoms of element A form a hcp structure and those of element M
occupy 2/3 of the tetrahedral voids of the hcp structure. The formula of the binary compound
1S :

Options :

M,A,
86435115751, 2
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M, A
86435115752, 43

86435115753, MAz

86435115754, MaA

Question Number : 31 Question Id : 8643515251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl fgaiil WY, oisdd A 9 U] hep WA TOR &Ydld 9 Hoiged M & 2/3 Iguys!
Ulhedld igdd. 1 hep W¥E-aial @1 g S 9= 3e.

Options :

M,A,
86435115751, 2

M, A
86435115752. 43

86435115753, MA3

86435115754, MaA

Question Number : 32 Question Id : 8643515252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A certain orbital has no angular nodes and two radial nodes. The orbital is :

Options :

I
wn

86435115755, 2
2p
86435115756,

86435115757.

3p
86435115758.

Question Number : 32 Question Id : 8643515252 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Tl faf¥ne HiFeAS eHE Al A6 T 9 ART Frey AEd. W < B
3Te.

Options :
86435115755, =

2p
86435115756.

86435115757.

86435115758, P

Question Number : 33 Question Id : 8643515253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - 11
(Process) (Catalyst)
(a) Deacon’s process (i) ZSM-5
(b) Contact process (i) Cull,
(c) Cracking of hydrocarbons (iii) Particles "N{i
(d) Hydrogenation of vegetable oils (iv) V,0:

Choose the most appropriate answer from the options given below :
Options :

86435115760, @), (b)-(iD), (c)-(5), (d)-(iii)
26435115761, @)r (i), (b)=(i), (c)-(iv), (d)-(ii)

86435115762, 2 @) (B)-(1v), (c}-(0), (d)-(iii)

Question Number : 33 Question Id : 8643515253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Iqral - 1 I1E] - 11 §37ER Sl

art - 1 & - 11
(wfspa) (SR®)
(a) <S4l Uihdr (i) ZSM-5
(b) Icdc Hichal (i) CuCl,
(c) BHSIBETI Hod (i) ‘Ni 9 &l
(d) Il ol BESTTe (iv) V,O

Glelie] YAIgAYT aiey I g,

Options :
86435115759, (@)(1), (b)-(ii1), (c)-(ii), (d)-(iv)

86435115760, (@r (), (B)-(iD), (c)-(1), (d)-(iii)
26435115761, @) (i), (b)=(1), (c)~(iv), (d)-(ii)

86435115762, @), (B)-(1v), (c}-(0), (d)-(iii)

Question Number : 34 Question Id : 8643515254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The ionic radius of Na* ion is 1.02 A. The ionic radii (in EEL;] of Mgz Fand AP, respectively,
are :
Options :
86435115763, 0-85 and 0.99

86435115764 0.72 and 0.54

86435115765, 0-68 and 0.72

86435115766, 102 and 0.99

Question Number : 34 Question Id : 8643515254 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Na* STl 3@=H B 1.02 A ame. Mg?* anfor AP+ =ii=an (A 94ie) 3ed 3= o
3T

Options :
86435115763, -85 ST 0.99

72 HI U
86435115764, 0-72 0.54

: =
86435115765, 0-68 3 o1 0.72

86435115766, 1-05 ST 0.99

Question Number : 35 Question Id : 8643515255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The chemical that is added to reduce the melting point of the reaction mixture during the
extraction of aluminium is :

Options :
86435115767, bauxite

86435115768, Laolite

86435115769, —alamine

86435115770, —ryolite

Question Number : 35 Question Id : 8643515255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
degAiTarea fepuvl fohdrdier =Tl Savlies 41 HYUINTS! HIefvard A0 REET

e
Options :

nr

86435115767. E
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& IATAZC

86435115768.

86435115769. = :

EAE| (G E

86435115770.

Question Number : 36 Question Id : 8643515256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two Statements : One is labelled as Assertion A and the other is labelled as

Reason R :

Assertion A :  During the boiling of water having temporary hardness, Mg(HCO,), is
converted to MgCO,.

Reason R : The solubility product of Mg(OH), is greater than that of MgCO,.

In the light of the above statements, choose the most appropriate answer from the options

given below :
Options :
86435115771 Both A and R are true and R is the correct explanation of A

86435115772, Both A and R are true but R is NOT the correct explanation of A
86435115773, A is true but R is false

6435115774, A 1s false but R is true

Question Number : 36 Question Id : 8643515256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Gedl |1 fa8r faefell Med. Ue U A 30T gAY BRI R 3% foffgeier ame.

BAA A TGl AT ¥eied] UIUTell SdodEl Mg(HCO;), @ MgCO, Hed ®UiaY Bl.
PRU R : Mg(OH), o SEUIGr I0H el MgCO, U&ll SR« 3712,

A A e il gaigiFegT avey 8 fFas.
Options :
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26435115771 Sel A ST R &Y 3M&d 30T R © A ° 9XEY |EIhIU 3.

86435115772, el A 30T R &Y 3ed W R € A I TEX TR A,

06435115773, A T S8 W R FIC 2.

86435115774, A TIC I8 W R & 3f1e.

Question Number : 37 Question Id : 8643515257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - 11
(a) Ca(OCl), (i) Antacid
” )
(b)y CaSO, - 3 H,0 (i) Cement
(c) CaO (iii) Bleach
(d) CaCO, (iv) Plaster of Paris

Choose the most appropriate answer from the options given below :
Options :

26435115775, (@)-1), (0)-(iv), (c)-(iii), (d)-(i)

26435115776, @) (L), (b)-(i1), (c)~(i), (d)-(iv)

86435115777, (@)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

86435115778, (@) (iiL), (b)-(iv), (c)-(ii), (d)-(i)

Question Number : 37 Question Id : 8643515257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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gral - 1 1<t - 11 SR1ER Sl

AT - 1 A - 11
(a) Ca(OCI), (i) Wfd3T (Antacid)
(b) CaSO, - %HED (ii) THT
(c) Cao (iiiy ==
(d) CaCO, (iv) wIRexY 3dh UR™

Options :
26435115775, @ 1), (B)-(iv), (c)-(ui), (d)-(ii)

26435115776, (@) (L), (b)-(ii), (c)~(i), (d)-(iv)

6435115777, @) (i), (b)-(ii), (c)-(iv), (d)-(i)

86435115778, @) (1iL), (b)-(iv), (c)-(ii), (d)-(1)

Question Number : 38 Question Id : 8643515258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The number of ionisable hydrogens present in the product obtained from a reaction of
phosphorus trichloride and phosphonic acid is :

Options :

86435115779, 1

86435115780, 2

86435115781. 0

86435115782,

Question Number : 38 Question Id : 8643515258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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BN COdeNge 0T BIEpIHe 3l &iedl JfAfhdqT TR B0l Saiamiiel 3{a-

Options :

86435115779, 1

86435115780, 2

86435115781. 0

86435115782,

Question Number : 39 Question Id : 8643515259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - 11
(a) Chlorophyll (i)  Ruthenium
(b) Vitamin - B, (i) Platinum
(c) Anticancer drug (iii) Cobalt
(d) Grubbs catalyst (iv) Magnesium

Choose the most appropriate answer from the options given below :
Options :
26435115783, (@)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

26435115784, (@)-(1¥), (b)~(ii), (c)-(ii), (d)-(i)
26435115785, (@) (W), (b)-(i1), (c)-(iii), (d)-(i)

86435115786. (@)(iv), (b)-(iii), (c)-(i), (d)-(ii)

Question Number : 39 Question Id : 8643515259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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&1 - 11T - 11 aRIER Sl

AT - 1 AT - 11
(a) TFARIMbB (i) wIfeM
(b) g - By, (ii) weIfeTH
(c) wiidax sige (iiiy PrETeT
(d) s GARSD (iv) HfEaE
Eeflel QaigiEegd arg 9oY el

Options :
26435115783, (@) (Hi), (b)-(ii), (c)~(iv), (d)-(i)

26435115784, @) (1v), (b)-(iii), (c)-(ii), (d)-(1)
26435115785, (@) (W), (b)-(ii), (c)-(iii), (d)-(i)

86435115786. (@)-(iv), (b)(ii), (c)-(i), (d)-(ii)

Question Number : 40 Question Id : 8643515260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct structures of trans-[NiBr, (PPh,), | and meridonial-[Co(NH;),(NO,),], respectively,

are .
Options :
NO
Ph.P B O,N 2 NH
g \ / . g, || 7
and Co
Ph; P/ \Br OEH/P!;H\NH?’
86435115787. 3

Pth\ /BI’ 2 \]Oz
\I
/ \IJIJhg_ C}N/ | \NII

NH,
86435115788,
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IJhErP \ / Br
/ \\ PPh; H3N/ | \ NO,

86435115789.

86435115790. 3

Question Number : 40 Question Id : 8643515260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CiF—[NiBr,(PPh,),] ST ARS8 —[Co(NH,),(NO,),] Eiedm S¥ER |Xa-1 3igHhH
CIELS

Options :
NO
Ph3|’\ /Br O,N | 2 _NH;
afor \\\Clisz
Phs F'/ \Br Dzm/ TJ“_[\NHF}
86435115787, 3
PhsP \ /Br H;N TDE NO,
_— \Cﬂ/
Br / \pphS D M / P!]I—‘]_\NHF'!'
86435115788. 3
NO, NO,

Ph3F'\ /Br \| /
e R S i i \No,

NH,
86435115789.
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NH,

PhEP\ /Br \ | /NHa
Ph, P/ \Br i OzN/ | \‘402

NH,
86435115790,

Question Number : 41 Question Id : 8643515261 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statements that are TRUE :

(A) methane leads to both global warming and photochemical smog
(B) methane is generated from paddy fields

(C) methane is a stronger global warming gas than CO,

(D) methane is a part of reducing smog.

Choose the most appropriate answer from the options given below :

Options :
86435115791, (4) and (B) only

86435115792, (A) (B), (C) only

26435115793, \B)- (C), (D) only

86435115794, (&) (B). (D) only

Question Number : 41 Question Id : 8643515261 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
off faar @9 ImEq «

(A) 429 o5 e T Nt ySRREEAS gaR el
(B) THEM Wl Taa odX Biel.

(C) CO, Yen W= wfdaar Teimer diflT a1y 3e.

(D) 99 =1 fUUeN gERME 91T 31E.

Options :
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86435115791, () T (B) B

86435115792, (&) (B), (C) B

86435115793, (B). (C), (D) ®ad

86435115794, (&) (B), (D) Bad

Question Number : 42 Question Id : 8643515262 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Compound with molecular formula C;H,O can show :
Options :

86435115795. Positional isomerism
86435115796, Functional group isomerism
86435115797. Metamerism

86435115798, Both positional isomerism and metamerism

Question Number : 42 Question Id : 8643515262 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C,H,O & 37 & a9elel 9T =Eg 9.
Options :

I A
86435115795.

fPar®® TIc
86435115796. RS

86435115797. L

SNl S AT T
86435115798. S
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Question Number : 43 Question Id : 8643515263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(Chemicals) (Use/Preparation/ Constituent)
(a) Alcoholic potassium hydroxide (i) electrodes in batteries
(b) Pd/BaSO, (ii) obtained by addition reaction
(c) BHC (Benzene hexachloride) (iii) used for p-elimination reaction
(d) Polyacetylene (iv) Lindlar's Catalyst

Choose the most appropriate match :
Options :
86435115799, (@i, (P)-(1), (c)-(iv), (d)-(iii)

26435115800 (@)-(iid), (b)-(1), (c)-(iv), (d)-(ii)
86435115801, (@-(ii), (D)-(iv), (c)-(0), (d)-(iii)

26435115802, (@)-(ii1), (b)~(iv), (c)-(ii), (d)-(i)

Question Number : 43 Question Id : 8643515263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl - 1161 - 11 SRER ol

e -1 qrat - 11

(Ram) (STET/TAR RO/ FEH)
(a) UICRIsM TUGEAISE Sedeld AU (i) Wcildiel Seldeie
(b) Pd/BaSO, (i) |AEEN SifHfEATT e
(c) BHC (¥3F sreariEs) (iif) p-fadrm sfafeda amRad
(d) uifasrfcter (iv) Toigavar 9aRe
Urg S i el
Options :

86435115799, @), (b)~(1), (c)-(iv), (d)-(ii)
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86435115800, (@)-(1D), (D)-(1), (c)-(iv), (d)-(ii)
86435115801, @-(i), (D)-(iv), (©)-(1), (d)-(iii)

26435115802, (@)-(ii1), (b)=(iv), (c)-(ii), (d)-(i)

Question Number : 44 Question Id : 8643515264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reaction of Grignard reagent, CEHSMgBr withC HHSD followed by hydrolysis gives compound
“A” which reacts instantly with Lucas reagent to give compound B, C,,H;;CL

The Compound B is :
Options :

Cl
CHj,4
86435115803.
CH;
1
86435115804.
Cl CH,4
CHy
86435115805.
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CHj
Cl

CHj

86435115806.

Question Number : 44 Question Id : 8643515264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CoH O = |gmrl fiFMre aif¥fpaen® C,H MgBr Wiad SAfAfhal el Ha¥ eild Jqee
Pel HFAl WY “A” TR B o g AfHfpaeReEER &una fhar o6 JgT B,
C,oH,;Cl .

HYT B e,

Options :

CH,

86435115803.

%

86435115804.

cl CH;

CH,

pe

86435115805.
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CH,
Cl

CHj

86435115806.

Question Number : 45 Question Id : 8643515265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C=N
COOH
H,O H,O
i ] o ‘Iﬁ‘. s ]
H H*4
(Major Product)
Consider the above chemical reaction and identify product “A" :
Options :
CH,NH,

86435115807.

§
C=N-0OH

86435115808.

86435115809

: ~CH,NO,

Question Number : 45 Question Id : 8643515265 Question Type : MCQ Option Shuffling : Yes Is

86435115810
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

C=N
COOH
H,0 " H,0
& A ;
H~ H+, A
(7 F7TTR)
aNIel AT 4 =1 U Idig “A” o,
Options :
86435115807.
86435115808.
I
: COC=N-—-0H
86435115809.
: ~CH,NO,
86435115810.

Question Number : 46 Question Id : 8643515266 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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H;

Alkaline K]vInD4 B

Considering the above chemical reaction, identify the product “X" :

T+
OCH;,4
Options :
CH,OH
x i
86435115811. OCH,
COOH
m
86435115812. OCH;,
CHO
_}{ 2
86435115813. ety
CH,
X =
OH
86435115814.

Question Number : 46 Question Id : 8643515266 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘Hj

ST KMnO,
} .HK”
Ht
OCH;,
A JhT A& =1, 9dig “X” 3ATodEl.
Options :
CH,OH
X S
86435115811, OCH,
COOH
O
OCH,
86435115812.
CHO
_}{ n
86435115813. Ocks
CH,
X -
OH

86435115814.

51/91



3/18/2021

Question Number : 47 Question Id : 8643515267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HLC CH
3 \\N P4 3
Hy

NaNO,, HCI

» Py KH_ ;-__ L Y."l‘
273 K-278K (Major Product) (Major Product)

Considering the above reaction, X and Y respectively are :

Options :
el N N/Q
._~CH
and O/ N~~~ 3
86435115815, CHy
T rﬁ**ruf’<<;::::>
and O/ N
[::f::J B ““*(1{3
86435115816. CHj
N2 €™ Jeit
and )
CHg
86435115817.
Cl fFjia
and [:::::::(” \Elfi
3
86435115818.

Question Number : 47 Question Id : 8643515267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

H,C CH
3 \‘N’/ 3
Hy
NaNO,, HCl s
273K — 278 K (greg 3ere) (e )
Tt fHfchar e B dX X T Y ShH e
Options :
N+ Cl™ @
ij O/ N CHa
CHj,
86435115815.
a O
3o U
86435115816. =
N;Cl™ H;
86435115817
Cl (,Ha;
CH;
86435115818.

Question Number : 48 Question Id : 8643515268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - 1 with List - I :

List - 1 List - 11
(Class of Drug) (Example)
(a) Antacid i) Nowvestrol

(i

(b) Artificial Sweetener (ii) Cimetidine
(c) Antifertility (iil) Valium
(d) Tranquilizers (iv) Alitame
Choose the most appropriate match :

Options :

seansi1salo. @), (B)-(v), (@), (d)-()

86435115820, @(i), (b)-(iv), (c)-(1), (d)-(iii)
86435115821, @), (b)-(i), (c)-(ii), (d)-(iii)

86435115822, (@)-(1v), (b)-(iii), (c)-(i), (d)-(ii)

Question Number : 48 Question Id : 8643515268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS - 1 A1GT - 11 TRER o,

RICi | AT - 11
( SiTaerran @) (JeTeRvT)
(a) Wfdem< (i) HArEreYd
(b) T AYTIRS (i) TEafesH
(c) Widher&Hal (iii) =feiem™
(d) uelid® (iv) 3reicH
g Wre e

Options :
ceaisi1saro. @), (B)-v), (©)-Gii), (d)-()

86435115820, @), (b)-(iv), (c)-(1), (d)-(iii)
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86435115821, (@F(v), (b)-(1), (c)-(i), (d)-(iii)

86435115822, (@)k(1v), (b)-(iil), (c)-(1), (d)-(ii)

Question Number : 49 Question Id : 8643515269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A non-reducing sugar “A” hydrolyses to give two reducing mono saccharides. Sugar A is:

Options :
86435115823, Glucose

86435115824, Fructose
86435115825, Galactose

86435115826, Sucrose

Question Number : 49 Question Id : 8643515269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&M &UUGRG AHNGRISS W Thl HEYUDN] b Al Wcild AUHeAlgd Heoda ¥ 2Dl
A e,

Options :

86435115823. d
86435115824. 3

86435115825.

86435115826. i

Question Number : 50 Question Id : 8643515270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Reagent, I-naphthylamine and sulphanilic acid in acetic acid is used for the detection of :
Options :

86435115827, V2

86435115828. N

86435115829, NO

N,O
86435115830. 2

Question Number : 50 Question Id : 8643515270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1--FIA3EET AT IHicd ITANIA Aabiicd A+ &l A e REaEl 39arT

TIHUITARST Bl
Options :

86435115827, V2

86435115828, 1 \V3

86435115829, NO

2

86435115830.

Chemistry Section B
Section Id : 864351352
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351352
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643515271 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Complete combustion of 3 g of ethane gives x x 102 molecules of water. The value of x is

. (Round off to the Nearest Integer).
[Use : N, =6.023 x 10%%; Atomic masses inu : C:12.0;0:16.0; H: 1.0]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643515271 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3 g g9l WU S@eIgA xx 1072 Uugrd ¥y feel We. x 91 fHad e

(Srac=al quiiehTd)
[@MORT : N, =6.023 x10%; 3] RgAH C:120u;0:160u; H: 1.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643515272 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX is a covalent diatomic molecule where A and X are second row elements of periodic
table. Based on Molecular orbital theory, the bond order of AX is 2.5. The total number of
electrons in AX is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 52 Question Id : 8643515272 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A St X &1 Iad ARV gE Iikiel qoedid AX © HeEgd [Geval WgT eE.
DidD] THGAgaR AX 91 99 BIEl 25 AR, AX §JNI TPV Seidel-w4l dear
e, (Uil Sav)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643515273 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
GH, — GH, + H,
kK] mol 1 (Round off to the Nearest Integer).
[Given : Bond enthalpies in k] mol 1.C—-C:347, C=C:611;
C—-H:414, H—-H : 436]

the reaction enthalpy _\rH =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643515273 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

SRR

C,H, -» CH,+H,
Affehaal Tl AH=_____ k] mol~ 1. (Siaw=al quiie)
[ fooiel 3 : €9 Tl : C

R g B e )
k] mol lgg] C-H:414 H H : 436]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643515274 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 molal solution of a weak acid HA has a frr_-ezing point of 3.885°C. The dr_-grr:-e of dissociation

ofthisacidis  x10~3 (Round off to the Nearest Integer).

[Given : Molal depression constant of water =1.85 K kg mol "

Freezing point of pure water =0°C]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :
100

Question Number : 54 Question Id : 8643515274 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HA &1 919 ATFr=al 2 #laid =Tdumal euie 3.885°C e, = ATFrdl fagwoner
______ %1073 &2, (Gigo=dl quia)

[ fciel 318 : UvarTdl Hielel Be f¥eRie =1.85 K kg mol !
I WUl TSiS = 0°C)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643515275 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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In order to prepare a buffer solution of pH 5.74, sodium acetate is added to acetic acid. If the
concentration of acelic acid in the buffer is 1.0 M, the concentration of sodium acetate in the
buffer is M. (Round off to the Nearest Integer).

[Given : pKa (acetic acid) =4.74]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643515275 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5.74 pH ¥ SWIRTHT SEU §9UGMEIS] HISIeH dfce I¥fcd AT Hielad. W] ddfcd

T SHIRIEN FIaUTdiel Hedl 1.0 M 3¥el ¥ |ieidd ficedl SHIRIHl Savdiel el
M 2. (Sdoedl YuiiaTe)

[ faetel e : pKa (SRifew amer)=4.74]

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643515276 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
2Fe3* (aq) + 21~ (aq) — 2Fe?* (aq) + L,(s)
the magnitude of the standard molar free energy change,

[+

AG,,=—___ k] (Round off to the Nearest Integer).
E Rzt /meg) = ~ 0440 Vi E'p ot g™ — 0086V
E°l /- = 0539V;  F=96500C

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 8643515276 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CIGICEEIE)
2Fe? * (Gifeta) + 21 (Sifera) — 2 Fe?* (Gferd) + L(E)

AME TG qad Sl gead! fhAd A, G, = -k 3.
(STacsea Qi)

B L2t peey = — 0440 VE Ly p o= = 0.036 V

E%, foy- = 0339V F = 96500 C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643515277 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 NO(g) +Cl,(g) = 2 NOCI(s)

This reaction was studied at — 10°C and the foIIowf_t‘lg data was obtained

run [NOJ, [CL ], Iy
1 0.10 0.10 0.18
2 0.10 0.20 0.35
3 0.20 0.20 1.40

[NOJ, and [CL,], are the initial concentrations and 1, is the initial reaction rate.

The overall order of the reaction is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes

61/91



3/18/2021
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 8643515277 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 NO(dn)+ C IZ{EIT} ‘= 2 NOCI(=)
gfafepar —10°C & el F9al Gieila Alfedl Haolel.

@H (run) [NOJ,  [Cl Io
1 0.10 0.10 0.18
2 0.10 0.20 0.35
3 0.20 0.20 1.40

[NOJ, 3feT [CL, ], = GRarredn el 3ed % r, & gariran AfHfchd=n 977 ame. % AfHfpadr
AT BICT

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

IR, (9ol qUie)

Text Areas : PlainText
Possible Answers :

100

Question Number : 58 Question Id : 8643515278 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of unpaired electrons present in the complex K;[Cr(oxalate),] is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643515278 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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K,[Cr(3fTd=eie),] & Hgelilal THUT JGHI Seidel~wdal €& 38,

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643515279 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

= grams of 3-Hydroxy propanal (MW =74) must be dehydrated to produce 7.8 g
of acrolein (MW =56) (C;H,O) if the percentage yield is 64. (Round off to the Nearest
Integer).

[Given : Atomic masses : C:12.0u, H:1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643515279 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

7.8 g 3eplfer (MW =56) (C;H,O) dI 64 TId WISl VIS I £ e b A
Uriel (MW =74) ° FIleliRu] Sl A9eds s, (Wdol Quis)

[ﬁ.‘?l?ff e U IgHH : C:120u, H: 104w, 0:160 u ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643515280 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A reaction of 0.1 mole of Benz}-'lamf_tm with bromomethane gave 23 g of Bc-nzyl trimeﬂ‘u}-'l
ammonium bromide. The number of moles of bromomethane consumed in this reaction are

nx10~ 1, when n= . (Round off to the Nearest Integer).

[|Given : Atomic masses : C: 120 u, H:1.0u, N : 14.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643515280 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.1 Arer df3rersmsT=a sEifEeg=e sftfeda 23 g dfte crffaEa smifaa dmEs fHorel.
FEIALTT SAARFIT IR Tefedl Aol H& nx 10~ ! 3 TW n=__ . (GTaes=n

PUIEAG)
[ﬁﬂﬁmﬂfﬂﬁﬂﬂ :C:120u, H:1.0u, N: 140wy, Br: 800 u |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351353
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351353
Question Shuffling Allowed : Yes
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Question Number : 61 Question Id : 8643515281 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the functions are defined as f(x) = Jx and g(x) = /1 — x, then what is the common

domain of the following functions : f+g, f—g, f/g. g/f g—f where

(f + 9)x) =f(x) = 30), (f/8)x) = L&
g(x)

Options :

86435115841, 0 =x <1

86435115842, 0 <x <1

86435115843, 0 =x =1

86435115844, U <x =1

Question Number : 61 Question Id : 8643515281 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WR Bel f(x)=x M g(x) =T -x ¥ FIREd M, W frg, f-g f/g g/f g f o

(f = 8)(x) =f(x) = gx), (f/8)x) = % .1 Helid AMss A& (Common domain) BT
e’
Options :

86435115841, 0 =x <1

86435115842, 0 <x <1

86435115843, 0 =X =1

86435115844, U<x =1

Question Number : 62 Question Id : 8643515282 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If the equation a/zf> + @z + «z + d =0 represents a circle where a, d are real constants,

then which of the following condition is correct ?

Options :
L,

86435115845, |@/-~ad = 0and ae R

af?~ad >0 and a e R— {0}
86435115846.

2 5
86435115847, (@~ — ad=0

= b
86435115848, @ =0, a de R

Question Number : 62 Question Id : 8643515282 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WX az?+&z taz+d=0 @ dgord GHIGRU FEAA i@l a, d ¢ 9RKd 9el dled, W%

Geieud] BRI 96 (condition) SRER 3fME 7

Options :
26435115845, [@/?—ad = 0 3T aeR
86435115846, |7 ~ad >0 M a ¢ R— (0}

'j 5
86435115847, (@~ — ad=0

o i
86435115848, @=0,a de R

Question Number : 63 Question Id : 8643515283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| I 0
Let A+ 2B= b 3| and 2A—-B =
5 1 (

I3 2

If Tr(A) denotes the sum of all

IS TS T L |
S = L ) |

—
[

diagonal elements of the matrix A, then Tr(A) — Tr(B) has value equal to :
Options :
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86435115849, 1
86435115850,
86435115851, 3

86435115852, U

Question Number : 63 Question Id : 8643515283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P 28 2 -1 5
G A+2B=| 6 -3 3| &ft1 2A-B=|2 -1 6|. oX Tr(A) & A IR 94
5 3 1 B 12
HUTAD (diagonal) Hehidl 9 SEifdd, T Tr(A) - Tr(B) o o4 e,
Options :

86435115849, 1
86435115850.
86435115851, 3

86435115852, U

Question Number : 64 Question Id : 8643515284 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let o, 3, v be the real roots of the equation, 2 +axZ+bx+c=0, (a,bce Rand a,b=0). If

the system of equations (in u, v, w) given by au+pv+yw=0; pu+yv+aw=0;

"9
R d T
v + av + Bw =0 has non-trivial solution, then the value of o is :

Options :

86435115853. 0

86435115854, 1
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86435115855. 3

86435115856. 2

Question Number : 64 Question Id : 8643515284 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HHGT ¥ +ax2 +bx +¢=0, (a, b, c e R HMT a, bz 0) I FHHIME o, B, v & IRad b &,
WX ant + Po +vw=0; Pu +vo + aw=0; vu + o + Pw =0 B GABLOG WOl u, v, w I fSelel

3. T TEGOIET TR & Yo 95 wﬁﬁmﬁa@,m%aq@____ .

Options :

86435115853. 0

86435115854, 1

86435115855. 3

86435115856. 2

Question Number : 65 Question Id : 8643515285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of all the 4-digit distinct numbers that can be formed with the digits 1, 2, 2 and 3
15 :

Options :

86435115857, 22264

86435115858, 26664

86435115859, 122234

86435115860, 122664

Question Number : 65 Question Id : 8643515285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
1,2,2 &7 3 & 3 90 TAR BT 4-3(d) e Wegia ade . 3.

Options :
86435115857.

86435115858, 20664

86435115859, ~ ===+

86435115860, 122664

Question Number : 66 Question Id : 8643515286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let (1+x+2x2)0=ay+a,x+ax?+...+ax0. Then, a;+a;+ag +.... ba,, is equal to:
Options :
31‘3{72{] | 'j]_]
86435115861. — *© =
731{72{] | 'jl]
86435115862. = = o
21‘3{22{] 21]
86435115863.
23]{22{] 21]
86435115864.

Question Number : 66 Question Id : 8643515286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el (1+x+2x%)W=a,+a,x+ax?+.... +a,x0, O¥ a, +a, +a . +..... ba,, GXIEX
________ e,
Options :
jl‘){j.?{] | -}1]
86435115861. = & &
731{72{] | 71]
86435115862. = '~ =

21‘3{22{] 21]
86435115863.
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zzquﬂ 21)
86435115864.

Question Number : 67 Question Id : 8643515287 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_ 1

The value of 3 4 1 is oqual to:
4 4
1
34 ]
4 4
3+ ... x

Options :
86435115865, 1= T V3

R
86435115866, 2 7 V3

3395

86435115867. -

86435115868, 4+ V3

Question Number : 67 Question Id : 8643515287 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
3 A : I WE _____ IE
4 4
1
3 4 -
4 4
34+ ... s
Options :
86435115865, 1= T V3
S
86435115866, 2 7 V3
3 4 2@

86435115867. -

86435115868, 2+ V3
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Question Number : 68 Question Id : 8643515288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S e - g it sl I—Elisequaltf}:

Options :
25

01

—_

86435115869.

101
86435115870, *UB
99
86435115871, U

101

86435115872, 04

Question Number : 68 Question Id : 8643515288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

86435115869, 101

101
86435115870, U8
99
86435115871, 00

101

86435115872, 04
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Question Number : 69 Question Id : 8643515289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a, B are natural numbers such that 100%—1993 = (100)(100) + (99)(101) + (98)(102) 4
..... t(1)(199), then the slope of the line passing through («, 3) and origin is :
Options :

86435115873, 210

86435115874, 230
86435115875, 940

86435115876. 290

Question Number : 69 Question Id : 8643515289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WX, p A1 TG H@ med W @1 100% - 1998 = (100)(100) + (99)(101) + (98)(102)

..... F(1)(199), TX (o, B) SMOT SRY fSgAYT WOM=ar Yo=a1 9¢ s
Options :

86435115873, 210

86435115874, 230
86435115875, 240

86435115876, 220

Question Number : 70 Question Id : 8643515290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1
e x| =1
If f(x)=41% is differentiable at every point of the domain, then the values of

v
jax +hy x)<1

aand b are respec’rivol}-' -

Options :
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3 1
2' 2
86435115877.
i A
86435115878. 2 2
5 3
86435115879, 2 2
1 3
86435115880, 2 2

Question Number : 70 Question Id : 8643515290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| — > |y =

1
1
WY f(x)=4lx & Jycdl JHfHer=al Ul fdgay dad v fdbe-a ameg, v

a oMUT b dHed ST 3.
Options :
f .l .l
2"
86435115877
i
86435115878, 2 2
5 3
86435115879, 2 2
1 3
86435115880, 2 2

Question Number : 71 Question Id : 8643515291 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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cosec Ix

The real valued function f(x) = —=—=, where [x] denotes the greatest integer less than or

Jx = [x]
equal to x, is defined for all x belonging to :

Options :

26435115881 all reals except integers

2643511588, all reals except the interval [ -1, 1]

26435115883 all non-integers except the interval [ 1, 1]

26435115884, Al Integers except 0, —1,1

Question Number : 71 Question Id : 8643515291 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_1_
aw<id Yod el I_f{x]=%;@iﬂ[x]%ﬂﬁq{ﬂﬁ£x e, wd x wer e anE
X X

Options :
quiferea @faRed |d drd |

86435115881
8643511588, |~ 1 1] 1 SiAierafiiat e areqd e
s6435115883, |~ 1 1] TN SReTAfiRET W SrpUier W
86435115854, & 1 1 TN T e Hem

Question Number : 72 Question Id : 8643515292 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. —1 -1
im SiIn " x —tan «x

If i_)ﬂ 20 s equal to L, then the value of (6L +1) is :
Options :

1

b

86435115885.
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86435115886. ©

86435115887, 2

1
=
86435115888. ~

Question Number : 72 Question Id : 8643515292 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- 3 3
g limsh Xl Y g oqw eL+1) A YW &

x—=0 2y 3

Options :

O | =

86435115885.

86435115886. ©

-2

86435115887.

b | =

86435115888.

Question Number : 73 Question Id : 8643515293 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I(zx 1)cos(2x — 1)° A

\..":’.sz

5
The integral dx is equal to :

dx + 6

(where ¢ is a constant of integration)

Options :

1
;sin\/{h I 'lj?‘ S ¢
86435115889. <

isﬁw'r{zx '1]2 LS+ e

86435115890, 2
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1 f
—C0s4/(2x 'l]2 F5 +c
86435115891 2

1
—costf(Ex I 1]E F5 +¢
86435115892, 2

Question Number : 73 Question Id : 8643515293 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T]ﬁ?ﬁ I{h

2
Tycos+/(Z2x — 1Y + 5
:'2\/ ) dx TREY e,
dx + 6

'-.I'I-—lx

(W@l ¢ 3 Hha = g 3eE)
Options :

1
;sin\/{h’ I 1]2 S+
86435115889. <

1
—sﬁw'[(ix 'ljz ED e
86435115890.

1 i
—C0s4/(2x 'l]2 ot ol
86435115891 2

1
—cnsﬂ,.If(Ex I 1]E F5 + ¢
86435115892, 2

Question Number : 74 Question Id : 8643515294 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The differential equation satisfied by the system of parabolas y2=4a{x +a) is:

Options :
86435115893. ~‘1‘L ~-d~1 J
A A
—Jj I Ex{d—L{ | y=20
86435115804, ¥/ \dx )
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d
86435115895.

(
86435115896.

Question Number : 74 Question Id : 8643515294 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Gleliciid! DI fadeid TSI yP=4a(x +a) I1 SA-aerdl YUl gR GHEM HRal?

Options :

F[i—ﬂ 'l‘f{%w y=0
86435115893, . dx/ L dx )

F{d—ﬂ 'zx{d—ﬂ y=0
86435115804, ¥/ Ldx)
dy 2 d

() -3 +v=c
86435115895 / dx )
. :

3’[_‘1@ 2x( 2] -y =0
86435115896, 9%/ L dx )

Question Number : 75 Question Id : 8643515295 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement about two circles whose equations are given below :
x2+y?—10x— 10y +41=0

xZ 4 yz 22x - 10y +137=0

Options :

86435115897, Circles have two meeting points

86435115808, circles have no meeling point

86435115899, circles have only one meeting point
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86435115900. circles have same cenlre

Question Number : 75 Question Id : 8643515295 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S TGS S T

x2+y2—-10x— 10y +41=0

x2+y?-22x — 10y +137=0 &&d, I dgoiaEd €@ fagmq .
Options :

86435115897 T9® o f¥ga¥ %ed .

86435115808, T4® PUrEE figay deq e

86435115899, 4 B T Tdgar Fedl

86435115000, TP 14, STEl Ig@iEl he IS,

Question Number : 76 Question Id : 8643515296 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the four circles M, N, O and P, following four equations are given :

Circle M : x>+ %=1

Circle N : 22+ y?—2x=0

Circle O : 22 +y?2—2x—2y+1=0

Circle P : x2 +y%—2y=0

If the centre of circle M is joined with centre of the circle N, further centre of circle N is joined

with centre of the circle O, centre of circle O is joined with the centre of circle P and lastly,
centre of circle P is joined with centre of circle M, then these lines form the sides of a :
Options :

86435115901, Rectangle

86435115902, Rhombus

86435115903, >duare
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86435115004, | arallelogram

Question Number : 76 Question Id : 8643515296 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
IR dgos M, N, O 311 P Iidl §¥ie<u @rell faerell sied :

WX dg® M d $= dgo N =1 Barel Jodiel ofid 38, 9go N 9 6 dq0 O =1 Harel Jodiel
T 38, 9y O o $a dqe P =1 Hardl Jodiel Wid A 36e] 94 P o % dge M =1 bargl
Jodlel W, TR A1 X6 Eleileiie! HIvmE d], 3 ?

Options :

86435115901.

86435115902. S

86435115903, 91%

86435115904.

Question Number : 77 Question Id : 8643515297 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The number of integral values of m so that the abscissa of point of intersection of lines
3x+4y=9 and y=mx +1 is also an integer, is :

Options :

86435115905, U

86435115906, 1

[

86435115907.
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86435115908, 3

Question Number : 77 Question Id : 8643515297 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
m A QU &, TIRIST 3x +4y=9 M y=mx +1 A1 Y6 B [T YA (abscissa) &I
U UUie I, W He SR,

Options :
86435115905, U

=

86435115906.

2

86435115907.

(5]

86435115908.

Question Number : 78 Question Id : 8643515298 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The equation of one of the straight lines which passes through the point (1, 3) and makes an
angle tan ' (/2) with the straight line, ¥y + 1 = 3J2 x is:
Options :
= - —

2 x ( 2) =
sea3siisorg. W2 5y — (5+442) =0

26435115011, V2 X +4y — (15 +442) =0

51
Il
—=

—_— |
86435115912, A2 ¥ + 5y — 44

Question Number : 78 Question Id : 8643515298 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(1,3) =1 figweA S ST y +1=3V2 x a1 WX@ el tan~! (v2) B Homan Ywinsier

Tl RO YUY WHIBROT 38,
Options :
86435115909, 4V2 x +5y — (15 +42) =0

2 x ( 2) =
sea3siisorg, W2 5y — (5+442) =0

96435115011, V2 x +4y — (15 +442) =0

ha]
[
]

86435115012, +V2 X +5y — 4+

Question Number : 79 Question Id : 8643515299 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solutions of the equation

2 . 2 . 2
1+sin"x sin~x sin“x
") ") ")
cos“x 1+ cos“x cos“x| =0, (0<x <), are :

4 sin2y 4sin2y 1 + 4 sin2?x

Options :

86435115913, ©

86435115914, 1

86435115915.

I3

86435115916, 1

Question Number : 79 Question Id : 8643515299 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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. 2 . 2 . D
1+sin"x sin-x sin”x

cos’x 1+ cos’x cos x| =0, O=<x<w),

4 sin2x 48in2y 1 + 4 sin2y

T FEIHIT=AT Ih Al 3ed.
Options :

86435115913, ©
86435115914, |

86435115915.

86435115916.

Question Number : 80 Question Id : 8643515300 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g
A vector a has components 3p and 1 with respect to a rectangula_r cartesian system. This

system is rotated through a certain angle about the origin in the counter clockwise sense. If,

il .
with respect to new system, a has components p+1 and /10, then a value of p is

equal to :
Options :
86435115917, 1

86435115918, 1

4
86435115919, 5

W |

86435115920.
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Question Number : 80 Question Id : 8643515300 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Udh UGN HE¥d Yulei=dl §eHld U Wie® a @1 Hcd 3p SN0 1 SE. AT Yolleilel

iz HaHid gsdioarsd dicarl [§8F  (clockwise sense) Ta fafis wFMAT fhedier

. SR AdM YoTetr) WW.EETWPIIGJTWT.@ e, W p 9 o TWEX
e

Options :
86435115917, 1

86435115918, 1

4

86435115919,
3
86435115920.
Mathematics Section B

Section Id : 864351354
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351354
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643515301 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let z4, z, be the roots of the equation z% +az+12=0 and z,, z, form an equilateral triangle

with origin. Then, the value of |a| is ___
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 81 Question Id : 8643515301 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HHGT 22+ az+12=0 I FHIBROME! 2, z, & oo & 30T JNAAG HEd 2, 2, V6 FAGYS
frem quR $vdl. O |a| T T e,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643515302 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f(x) and g(x) be two functions satisfying f(x?) + g(4 —x)=4x" and g(4 — x) + g(x) =0, then
B ﬂ

the value of I._f{lh)di' e o
-4

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643515302 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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TG f(x) MO g(x) & IH Bed A&, & Bl f(x2) + g(d —x)=4x" 30T g(4—x) + g(x)=0 T

4
HHIGH HI, T [f{xzjdx G R -3
-4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643515303 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
. 3 L ;
Sx +7x )
If f(x)= _[ - = — dx, (x = 0), f(0)=0and f(1)= i then the value of K is
(x2 +1+247) K

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643515303 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5x% + 7x®

WX f(x) = j = dx, (x = 0), f(0)=0 SJTfﬁT.fU] = % WK 94

-r]a_

E,'L'Ellll'c’

e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 84 Question Id : 8643515304 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A square ABCD has all its vertices on the curve xzyz =1. The midpoin’r_q of its sides also lie on

the same curve. Then, the square of area of ABCD is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643515304 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TS IRE ABCD © §d BRI x22=1 T 9G¥ B0, Al dlojd Aehfdg gl g Thray
HEd. X 9RE ABCD =1 &=Gorl 91 8.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643515305 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the plane ax+ by +cz +d =0 bisect the line joining the points (4, —3, 1) and (2, 3, —5) at
the right angles. If a, b, ¢, d are integers, then the minimum value of {a2 Fb2+ 2 dzj is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643515305 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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|qoll (4, -3, 1) &mfor (2, 3, —5) AT f4EAT AU YWl ax+by+cz+d=0 & Udd
FICHHE AN 3E. WX a, b, c, d & Qid 3, @ (a2 +b2+c2+d?) o foa I

(minimum value) .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643515306 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equation of the planes parallel to the plane x — 2y + 22— 3 =0 which are at unit distance
from the point (1, 2, 3) isax + by + cz+d =0. If (b —d)=K(c— a), then the positive value of K

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643515306 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x—2y+2z—3=0 U1 Ydelicl GHIGY U (1, 2, 3) I7 g UNH T Gy Ul Uaadid
FHIDHYUT ax by +cz+d=0 e, WY (b-d)=K(c—a), W K 9 &4 AT (positive value)
| -

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643515307 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The mean age of 25 teachers in a school is 40 years. A teacher retires at the age of 60 years

and a new teacher is appomted in his placc-. If the mean age of the teachers in this school

now is 39 years, then the age (in years) of the newly appointed teacher is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643515307 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

U1 Woseilel 25 RigTpi=al quid #eg 40 94 318, U &7 60 A1 991 Hal-igd sl ad T
Tl G RIghrEn Fgail &1 SET el AR, WX 3R &1 Mods Rigdi=a 9" qeg 39 9§
e, TR AdH g doiedl s ag (i q=) e,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643515308 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of times the digit 3 will be written when Iistfng the integers from 1 to 1000 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643515308 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 o 1000 QUi &AM fTEd 39 3 & 3id dol ferdien ST,
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643515309 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The missing value in the following figureis .

AL 2 3 /
/ 1
f 1 , ' 1 ? ‘ 5 I',
| |I !
[ I ]
\ 24 6/
\ 8 7 o

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643515309 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Gleil fSolcdl MPamed FJURTT g (missing value)  3IE.
L 2 3/\\
"’f o~ B l‘\."
I 1 ? x 5
| { | |
[ t T |
| ah |
\ 2 \¥| ¥/ ¢/
\\ /\8 ? .-/
l"x .#;_,.f

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643515310 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation |cotr| = cotx + —— in the interval [0, 27] is
siny

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643515310 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o P ERE L I FHIHYOE [0, 27] W S R@HEYG Ihicial & 38,
SINY

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100
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